
Allen key
,yu dqath

Torque wrench
VkWdZ fjap

Pipe wrench
ikbi fjap

Adjustable spanner
lek;ksT; vkStkj

Tee joint
Vh tksM+

Socket weld joint
l‚dsV osYM tksM+

Union joint
;wfu;u tksM+

None of these
buesa ls dksbZ ugha 

To reduce friction
?k"kZ.k dks de djus ds fy,
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Q.1. What is the name of tool given in the below image?
uhps nh xbZ Nfo esa fn, x, Vwy dk uke D;k gS\

A).     

B).     

C).     [Correct Answer]     

D).     

Q.2. Which is the most common type of joint in pipe fitting to link two pipes
at a right angle?
ikbi fQfVax esa nks ikbiksa dks ledks.k ij tksM+us ds fy, lcls vke
çdkj dk tksM+ dkSu lk gS\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.3. What is a gasket used for in pipe joints?
ikbi tksM+ksa esa xSLdsV dk mi;ksx fdl fy, fd;k tkrk gS\

A).     

th



To increase pressure
ncko c<+kus ds fy,

To enhance flexibility
yphykiu c<+kus ds fy,

To prevent leakage
fjlko dks jksdus ds fy,

Drilling
fMªfyax

Milling
filkbZ

Grinding
ihluk

Sawing
dkVuk

Round file
xksy Q+kby

Half-round file
vk/kh&xksy Q+kby

Triangle file
f=Hkqt Q+kby

Flat file
फ्लैट फ़ाइल

TIG welding
TIG osfYMax

B).     

C).     

D).     [Correct Answer]     

Q.4. What is the name of the machining process where a rotating multi-point
cutting tool is used to remove material?
ml e'khfuax çfØ;k dk D;k uke gS tgka lkexzh dks gVkus ds fy, ,d
?kweus okys cgq&fcanq dkVus okys midj.k dk mi;ksx fd;k tkrk gS\

A).     

B).     [Correct Answer]     

C).     

D).     

Q.5. Which type of file is used for finishing flat surfaces?
lery lrgksa dh fQfuf'kax ds fy, fdl çdkj dh Qkby dk mi;ksx
fd;k tkrk gS\

A).     

B).     

C).     

D).     [Correct Answer]     

Q.6. When welding non-ferrous metals such as copper and aluminium, which
type of welding is usually applied?
rkacs vkSj ,Y;qehfu;e tSlh vykSg /kkrqvksa dh osfYMax djrs le;
vkerkSj ij fdl çdkj dh osfYMax dk mi;ksx fd;k tkrk gS\

A).     [Correct Answer]     



Spot welding
Li‚V osfYMax

Arc welding
vkdZ osfYMax

Plasma welding
IykTek osfYMax

Screwdriver
isapdl

Divider
ijdkj

Pliers
fpeVk

Wrench
fjap

Holding workpieces securely
odZihl dks lqjf{kr :i ls idM+uk

Cutting metal
/kkrq dkVuk

Measuring angles
dks.k ekiuk

Marking metal surfaces
/kkrq dh lrgksa dks fpfàr djuk

B).     

C).     

D).     

Q.7. Which tool is commonly used for marking precise measurements on metal
sheets?
/kkrq dh 'khVksa ij lVhd eki vafdr djus ds fy, vkerkSj ij fdl
midj.k dk mi;ksx fd;k tkrk gS\

A).     

B).     [Correct Answer]     

C).     

D).     

Q.8. What is the primary use of the shown tool in the workshop?
dk;Z'kkyk esa n'kkZ, x, midj.k dk çkFkfed mi;ksx D;k gS\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.9. What is the function of the given tool in metal working?
fn, x, midj.k dk /kkrqdeZ esa D;k dk;Z gS\



Cutting metal sheets
/kkrq dh pknjsa dkVuk

Holding small components
NksVs ?kVdksa dks idM+uk

Measuring linear dimensions
jSf[kd vk;ke ekiuk

Shaping and forming metal
/kkrq dks vkdkj nsuk vkSj cukuk

Screwdriver
isapdl

Hammer
gFkkSM+k

Torque wrench
VkdZ fjap

Pliers
fpeVk

Bonnet
बोनेट 

Disk
fMLd

Stem
स्टेम 

Body
बॉडी

Depth gauge
xgjkbZ xst

Micrometer

A).     

B).     

C).     

D).     [Correct Answer]     

Q.10. What is the name of the tool that can be used for precise tightening of
screws according to specified torque values?
ml midj.k dk uke D;k gS ftldk mi;ksx fufnZ"V V‚dZ ekuksa ds
vuqlkj LØw dks lVhd :i ls dlus ds fy, fd;k tk ldrk gS\

A).     

B).     

C).     [Correct Answer]     

D).     

Q.11. Which component of a valve is responsible for regulating flow?
okYo dk dkSu lk ?kVd çokg dks fofu;fer djus ds fy, ftEesnkj
gS\

A).     

B).     [Correct Answer]     

C).     

D).     

Q.12. What is the name of the tool that is commonly used to measure the
depth of a drilled hole?
ml midj.k dk uke D;k gS ftldk mi;ksx vkerkSj ij fMªy fd,
x, Nsn dh xgjkbZ ekius ds fy, fd;k tkrk gS\

A).     [Correct Answer]     

B).     



ekbØksehVj

Vernier caliper
ofuZ;j dSfyij

Feeler gauge
Qhyj xst

Reamer
jhej

Hammer
gFkkSM+k

File
Q+kby

Tap
VSi

Aluminum
vY;qehfu;e

Copper
rk¡ck

Rubber
jcM+

Stainless Steel
LVsuysl LVhy

Protractor
çksVªsDVj

Try square
VªkbZ LDok;j

Micrometer
ekbØksehVj

C).     

D).     

Q.13. Which tool is used to create internal threads in a hole?
Nsn esa vkarfjd FkzsM cukus ds fy, fdl midj.k dk mi;ksx fd;k
tkrk gS\

A).     

B).     

C).     

D).     [Correct Answer]     

Q.14. Which material is commonly used for making gaskets in fitting
applications?
fQfVax vuqç;ksxksa esa xSLdsV cukus ds fy, vkerkSj ij fdl lkexzh dk
mi;ksx fd;k tkrk gS\

A).     

B).     

C).     [Correct Answer]     

D).     

Q.15. Which tool is commonly used for marking measurements accurately in
fitting?
fQfVax esa eki dks lVhd :i ls vafdr djus ds fy, vkerkSj ij
fdl midj.k dk mi;ksx fd;k tkrk gS\

A).     

B).     [Correct Answer]     

C).     



Vernier caliper
ofuZ;j dSfyij

Straight Edge
LVªsV ,t

Spirit Level
fLçV ysoy

Feeler Gauge
Qhyj xst

Dial Test Indicator
Mk;y VsLV ladsrd

Welding
osfYMax

Riveting
fjosfVax

Soldering
Vkadus dh fØ;k

Brazing
Vkaduk

Surface finish requirement
lrgh fQfu'k dh vko';drk

Diameter dimension
O;kl vk;ke

Angle dimension
dks.k vk;ke

Tolerance specification
lgu'khyrk fof'k"Vrk

D).     

Q.16. Name the tool that is used to measure the straightness of a surface or
shaft.
ml midj.k dk uke crkb, ftldk mi;ksx fdlh lrg ;k 'kk¶V dh
lh/khrk dks ekius ds fy, fd;k tkrk gSA

A).     [Correct Answer]     

B).     

C).     

D).     

Q.17. Which process involves joining metal pieces by melting them together?
fdl çfØ;k esa /kkrq ds VqdM+ksa dks fi?kykdj ,d lkFk tksM+uk 'kkfey
gS\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.18. In an engineering drawing, what does the symbol "Ø" represent?
,d bathfu;fjax Mªkbax esa] çrhd "Ø" D;k n'kkZrk gS\

A).     

B).     [Correct Answer]     

C).     

D).     



Bench grinder
csap xzkbaMj

Angle grinder
,axy xzkbaMj

Circular saw
ldqZyj l‚

Drill press
fMªy çsl

Lathe
[kjkn

Grinding
filkbZ

Drill
Nsn djuk

Bench drilling
csap fMªfyax

Tachometer
VSdksehVj

Spirit Level
fLçV ysoy

Thickness Gauge
eksVkbZ ukius dk ;a=

Multimeter
eYVhehVj

Q.19. Which type of power tool is commonly used for drilling precise holes in
metal workpieces?
/kkrq ds odZihl esa lVhd Nsn djus ds fy, vkerkSj ij fdl çdkj ds
fctyh midj.k dk mi;ksx fd;k tkrk gS\

A).     

B).     

C).     

D).     [Correct Answer]     

Q.20. What is the name of the tool that is commonly used to shape metal or
wood by rotating it against a fixed cutting tool?
ml midj.k dk D;k uke gS ftls vkerkSj ij ,d fuf'pr dkVus
okys midj.k ds fo#) ?kqekdj /kkrq ;k ydM+h dks vkdkj nsus ds fy,
mi;ksx fd;k tkrk gS\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.21. Which instrument is commonly used to verify the alignment of machine
tool components during inspection?
fujh{k.k ds nkSjku e'khu midj.k ?kVdksa ds lajs[k.k dks lR;kfir djus
ds fy, vkerkSj ij fdl midj.k dk mi;ksx fd;k tkrk gS\

A).     

B).     [Correct Answer]     

C).     

D).     

Q.22. What is the most suitable method for joining two thin metal sheets
together?



Riveting
fjosfVax

Soldering
Vkadus dh fØ;k

Welding
osfYMax

Bolting
cksfYVax

Oxygen
v‚Dlhtu

Nitrogen
ukbVªkstu

Acetylene
,slhVkbyhu

Argon
vkxZu

To increase friction
?k"kZ.k c<+kus ds fy,

To make components brittle
?kVdksa dks Hkaxqj ds fy,

To reduce wear and tear
VwV&QwV dks de djus ds fy,

To decrease operational efficiency
ifjpkyu n{krk esa deh ykus ds fy,

nks iryh /kkrq dh 'khVksa dks ,d lkFk tksM+us dh lcls mi;qä fof/k
D;k gS\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.23. Which gas is commonly used in brazing operations to create a controlled
atmosphere?
fu;af=r okrkoj.k cukus ds fy, czsftax v‚ijs'ku esa vkerkSj ij fdl
xSl dk mi;ksx fd;k tkrk gS\

A).     

B).     

C).     

D).     [Correct Answer]     

Q.24. Why is it important to lubricate moving parts of machinery regularly?
e'khujh ds xfr'khy fgLlksa dks fu;fer :i ls fpdukbZ nsuk D;ksa
egRoiw.kZ gS\

A).     

B).     

C).     [Correct Answer]     

D).     

Q.25. Which operation is commonly performed to modify the shape or size of
components in the fitter trade?
fQVj VªsM esa ?kVdksa ds vkdkj ;k vkdkj dks la'kksf/kr djus ds fy,
vkerkSj ij dkSu lk v‚ijs'ku fd;k tkrk gS\



Brazing
Vkaduk

Grinding
filkbZ

Maintenance
j[k&j[kko

Polishing
pedkuk

Twist Drill
fV~oLV fMªy

Brad Point Drill
czSM IokbaV fMªy

Masonry Drill
eslujh fMªy

None of these
buesa ls dksbZ ugha

Talc
VSYd

PVC
ihohlh

Graphite
lhlk

Silicone
flfyd‚u

Threaded connection
FkzsMsM dusD'ku

Brazing

A).     

B).     [Correct Answer]     

C).     

D).     

Q.26. In the drilling technique, ______is commonly used for making holes in
metal with high accuracy.
fMªfyax rduhd esa] &&&&&&&& dk mi;ksx vkerkSj ij mPp
lVhdrk ds lkFk /kkrq esa Nsn djus ds fy, fd;k tkrk gSA

A).     [Correct Answer]     

B).     

C).     

D).     

Q.27. In metalworking operations, which material is often used as a lubricant?
/kkrq ds dkedkt esa] fdl lkexzh dk mi;ksx vDlj Lusgd ds :i esa
fd;k tkrk gS\

A).     

B).     

C).     [Correct Answer]     

D).     

Q.28. Which method is most frequently used in pipe fitting to connect two
pipes together without the need for welding?
osfYMax dh vko';drk ds fcuk nks ikbiksa dks ,d lkFk tksM+us ds fy,
ikbi fQfVax esa fdl fof/k dk lcls vf/kd mi;ksx fd;k tkrk gS\

A).     [Correct Answer]     

B).     



Vkaduk

Soldering
Vkadus dh fØ;k

None of these
buesa ls dksbZ ugha 

Chisel
Nsuh

Tap
uy

Punch
Nsnuk

File
Q+kby

Milling machine
fefyax e'khu

Lathe
[kjkn

Drilling machine
cs/ku ;a=

Grinding machine
ihlus dh e'khu

Measuring angles precisely
dks.kksa dks lVhdrk ls ekiuk

Measuring surface roughness
lrg dh [kqjnjkiu ekiuk

Measuring lengths accurately
yackbZ lVhdrk ls ekiuk

Measuring temperatures

C).     

D).     

Q.29. Which tool is typically used in bench work to create threads on a
workpiece?
odZihl ij FkzsM cukus ds fy, csap odZ esa vkerkSj ij fdl midj.k
dk mi;ksx fd;k tkrk gS\

A).     

B).     [Correct Answer]     

C).     

D).     

Q.30. Which type of machine tool is most frequently used to turn or shape
cylindrical workpieces?
csyukdkj odZihl dks eksM+us ;k vkdkj nsus ds fy, fdl çdkj ds
e'khu Vwy dk lcls vf/kd mi;ksx fd;k tkrk gS\

A).     

B).     [Correct Answer]     

C).     

D).     

Q.31. For what purpose, is a micrometer used for in fitting operations?
fQfVax dk;ksaZ esa ekbØksehVj dk mi;ksx fdl fy, fd;k tkrk gS\

A).     

B).     

C).     [Correct Answer]     

D).     



rkieku ekiuk

Drilling
fMªfyax

Reaming
jhfeax

Tapping
nksgu

Knurling
ufyaZx

Scraping
LØSfiax

Blowing
Cyksbax

Brushing
cz'k djuk

Tapping
nksgu

Tightening fasteners
QkLVujksa dks dluk

Measuring pipe joints
ikbi tksM+ksa dks ekiuk

Cutting gauges
xst dkVuk

Smoothing surface
lrgksa dks fpduk djuk

Q.32. Which operation involves creating threads on the interior surface of a
hole?
fdl v‚ijs'ku esa Nsn dh vkarfjd lrg ij FkzsM cukuk 'kkfey gS\

A).     

B).     

C).     [Correct Answer]     

D).     

Q.33. Which technique is used to clear the thread of the chuck during
mounting and dismounting in lathe operations?
ysFk v‚ijs'ku esa ekmafVax vkSj fMlekmafVax ds nkSjku pd ds FkzsM dks
lkQ djus ds fy, fdl rduhd dk mi;ksx fd;k tkrk gS\

A).     

B).     [Correct Answer]     

C).     

D).     

Q.34. What is the primary purpose of lapping in the context of fitter trade?
fQVj VªsM ds lanHkZ esa ySfiax dk çkFkfed mís'; D;k gS\

A).     

B).     

C).     

D).     [Correct Answer]     

Q.35. What is the acceptable accuracy for fitting an angular mating surface?
dks.kh; feyu lrg dks fQV djus ds fy, Lohdk;Z lVhdrk D;k gS\



0.02 mm and 10 minutes

0.01 mm and 5 minutes

0.05 mm and 15 minutes

None of these
buesa ls dksbZ ugha 

When precise alignment is required
tc lVhd lajs[k.k dh vko';drk gksrh gS

When the hole needs to be threaded
tc Nsn dks fijksus dh vko';drk gks

When the depth of the hole is restricted
tc Nsn dh xgjkbZ çfrcaf/kr gks

When a hole needs to pass entirely through the material
tc fdlh Nsn dks iwjh rjg ls lkexzh ls gksdj xqtjuk iM+rk gS

Increase drilling speed
fMªfyax xfr c<+kuk

Secure the material properly
lkexzh dks Bhd ls lqjf{kr djuk

Use a larger drill bit
,d cM+s fMªy fcV dk mi;ksx djuk

Apply excessive force
vR;f/kd cy yxkuk

Interlocking angled surfaces
dks.kh; lrgksa dks baVjy‚d djuk

Rounded edges
xksy fdukjs

Straight cuts
lh/ks dV

A).     [Correct Answer]     

B).     

C).     

D).     

Q.36. In which scenario, would you typically drill a blind hole?
vki vkerkSj ij fdl ifj–'; esa CykbaM Nsn djsaxs\

A).     

B).     

C).     

D).     [Correct Answer]     

Q.37. What precaution should be taken while drilling through materials with
varying thicknesses?
fofHkUu eksVkbZ okyh lkefxz;ksa esa fMªfyax djrs le; D;k lko/kkuh
cjruh pkfg,\

A).     

B).     [Correct Answer]     

C).     

D).     

Q.38. Which characteristic defines a dovetail joint?
dkSu lh fo'ks"krk MksosVsy tksM+ dks ifjHkkf"kr djrh gS\

A).     [Correct Answer]     

B).     

C).     



Parallel edges
lekukarj fdukjs

Aluminum Oxide
,Y;wehfu;e v‚DlkbM

Silicon Carbide
flfydu dkckZbM

Cubic Boron Nitride (CBN)
D;wfcd cksjku ukbVªkbM ¼lhch,u½

Diamond
Mk;eaM

Remove all electrical connections
lHkh fo|qr dusD'ku gVk nsuk

Wear personal protective equipment
O;fäxr lqj{kk midj.k iguuk

Drain any fluids or oils
fdlh Hkh rjy inkFkZ ;k rsy dks fudky nsuk

None of these
buesa ls dksbZ ugha 

Cylindrical Grinding
csyukdkj ihluk

Centerless Grinding
dsaæghu ihluk

Surface Grinding
lrg ihluk

Creep Feed Grinding
jsaxuk QhM ihluk

D).     

Q.39. Which type of grinding wheel is most suitable for sharpening high-speed
steel tools?
gkbZ&LihM LVhy VwYl dks rst djus ds fy, fdl çdkj dk xzkbafMax
Oghy lcls mi;qä gS\

A).     

B).     

C).     

D).     [Correct Answer]     

Q.40. When disassembling a machine, what should be done first to ensure
safety?
fdlh e'khu dks vyx djrs le; lqj{kk lqfuf'pr djus ds fy,
lcls igys D;k fd;k tkuk pkfg,\

A).     

B).     [Correct Answer]     

C).     

D).     

Q.41. Which grinding operation is used to remove excess material and achieve
a smooth surface finish?
dkSu lk xzkbafMax v‚ijs'ku vfrfjä lkexzh dks gVk nsrk gS vkSj ,d
fpduh lrg fQfu'k çkIr djrk gS\

A).     

B).     

C).     

D).     [Correct Answer]     



Chamfering
'kseQsfjax

Tapping
nksgu

Reaming
jhfeax

Facing
Qsflax

Bolts
cksYV

Nuts
uV~l

Screws
LØwt

Rivets
fjosVl

To create a spark for ignition
çToyu ds fy, fpaxkjh iSnk djuk

To protect the weld pool from atmospheric contamination
osYM iwy dks ok;qeaMyh; çnw"k.k ls cpkus ds fy,

To provide additional strength to the weld
osYM dks vfrfjä etcwrh çnku djuk

None of these
buesa ls dksbZ ugha 

Q.42. When assembling threaded components, which technique should be
used to ensure proper alignment?
FkzsMsM ?kVdksa dks vlsacy djrs le;] mfpr lajs[k.k lqfuf'pr djus ds
fy, fdl rduhd dk mi;ksx fd;k tkuk pkfg,\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.43. Which type of fastener is typically used to join two pieces of metal
permanently?
/kkrq ds nks VqdM+ksa dks LFkk;h :i ls tksM+us ds fy, vkerkSj ij fdl
çdkj ds QkLVuj dk mi;ksx fd;k tkrk gS\

A).     

B).     

C).     

D).     [Correct Answer]     

Q.44. In welding, what is the function of a flux?
osfYMax esa ¶yDl dk D;k dk;Z gS\

A).     

B).     [Correct Answer]
    

C).     

D).     

Q.45. What distinguishes a pneumatic component from a hydraulic one?
ok;oh; ?kVd dks gkbMªksfyd ls D;k vyx djrk gS\



The type of fluid used for operation
v‚ijs'ku ds fy, mi;ksx fd, tkus okys rjy inkFkZ dk çdkj

The color of the component
?kVd dk jax

The weight of the component
?kVd dk otu

None of these 
buesa ls dksbZ ugha 

Increased efficiency
c<+h gqbZ dk;Z{kerk

Reduced wear and tear
de VwV&QwV

Belt slippage
csYV fLyist

Decreased power consumption
fctyh dh [kir esa deh

They are less accurate
os de lVhd gSa

They are cheaper to manufacture
budk fuekZ.k djuk lLrk gS

They are used for basic shaping operations
budk mi;ksx cqfu;knh vkdkj nsus ds dk;ksaZ ds fy, fd;k tkrk gS

They provide measurements for multiple dimensions
os dbZ vk;keksa ds fy, eki çnku djrs gSa

Clamp
DySai

A).     [Correct Answer]     

B).     

C).     

D).     

Q.46. What is a common issue that might arise in a power transmission system
due to lack of maintenance?
j[kj[kko dh deh ds dkj.k fo|qr ikjs"k.k ç.kkyh esa dkSu lh lkekU;
leL;k mRiUu gks ldrh gS\

A).     

B).     

C).     

D).     [Correct Answer]     

Q.47. How do complex gauges differ from simple gauges in metalworking?
/kkrqdeZ esa tfVy xst] lk/kkj.k xst ls fdl çdkj fHkUu gksrs gSa\

A).     

B).     

C).     

D).     [Correct Answer]     

Q.48. ______ as one of the components of drill jigs, allows for easy adjustment
to accommodate different sizes of workpieces, enhancing versatility in
drilling tasks.
&&&&&&&&& fMªy ftXl ds ?kVdksa esa ls ,d ds :i esa] fofHkUu
vkdkj ds odZihl dks lek;ksftr djus ds fy, vklku lek;kstu dh
vuqefr nsrk gS] ftlls fMªfyax dk;ksaZ esa cgqeq[kh çfrHkk c<+rh gSA

A).     



Base
csl

Handle
gSaMy

None of these
buesa ls dksbZ ugha

To generate heat for the system
flLVe ds fy, xehZ mRiUu djus ds fy,

To increase the weight of the components
?kVdksa dk otu c<+kus ds fy,

To control the flow of air and pressure
gok ds çokg vkSj ncko dks fu;af=r djus ds fy,

None of these
buesa ls dksbZ ugha 

Propane
çksisu

Butane
C;wVsu

Hydrogen
gkbMªkstu

Acetylene
,slhVkbyhu

Sledge hammer
Lyst gFkkSM+k

Ball-peen hammer
cky ihu gFkkSM+k

Claw hammer
iats okyk gFkkSM+k

Rubber mallet

B).     

C).     [Correct Answer]     

D).     

Q.49. What is the purpose of constructing a circuit in a pneumatic system?
ok;oh; ç.kkyh esa lfdZV cukus dk mís'; D;k gS\

A).     

B).     

C).     [Correct Answer]     

D).     

Q.50. In gas welding, the flame is produced by mixing oxygen with which gas?
xSl osfYMax esa fdl xSl ds lkFk v‚Dlhtu feykdj Tokyk mRiUu dh
tkrh gS\

A).     

B).     

C).     

D).     [Correct Answer]     

Q.51. Name the type of hammer that is typically used for driving chisels and
punches.
ml gFkkSM+s ds çdkj dk uke crkb, ftldk mi;ksx vkerkSj ij Nsuh
vkSj छेद करus ds fy, fd;k tkrk gSA

A).     

B).     [Correct Answer]     

C).     

D).     



jcM+ dk cuk gFkkSM+k

To store small tools conveniently
छोटे औजारों को सुविधाजनक ढंग से संग्रहित करने के  लिए
To measure angles accurately
dks.kksa dks lVhdrk ls ekius ds fy,

To mark straight lines on metal surfaces
/kkrq dh lrgksa ij lh/kh js[kk,¡ vafdr djuk

To hold cylindrical objects securely
csyukdkj oLrqvksa dks lqjf{kr :i ls idM+uk

Steel
bLikr

Aluminum
vY;qehfu;e

Copper
rk¡ck

Plastic
IykfLVd

Excessive coolant
vR;f/kd 'khryd

Uneven feed rate
vleku QhM nj

Unequal lip wear

Q.52. What is the primary purpose of the given tool?
fn, x, Vwy dk çkFkfed mís'; D;k gS\

A).     

B).     

C).     

D).     [Correct Answer]     

Q.53. Which material is commonly used for making tap wrenches?
VSi fjap cukus ds fy, vkerkSj ij fdl lkexzh dk mi;ksx fd;k
tkrk gS\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.54. What could be a potential cause of drill troubles related to the length of
lips?
fyIl dh yackbZ ls lacaf/kr fMªy ijs'kkfu;ksa dk laHkkfor dkj.k D;k gks
ldrk gS\

A).     

B).     

C).     [Correct Answer]     



vleku fyi~ fo;j

Insufficient speed
vi;kZIr xfr

Diameter
O;kl

Hardness
dBksjrk

Weight
otu

Color
jax

Tool rest
midj.k jsLV

Eye shield
us= vkoj.k

Spark deflector
fpaxkjh fo{ksid

Grinding wheel guard
xzkbafMax ifg;k j{kd

Screw gauge

D).     

Q.55. What is meant by the "grade" of a grinding wheel?
xzkbafMax Oghy ds ^xzsM* ls D;k rkRi;Z gS\

A).     

B).     [Correct Answer]     

C).     

D).     

Q.56. Identify that part (x) of a bench grinder which is responsible for holding
the workpiece.

csap xzkbaMj ds ml fgLls (x) dh igpku djsa tks odZihl dks idM+us
ds fy, ftEesnkj gSA

A).     [Correct Answer]     

B).     

C).     

D).     

Q.57. What is the name of the gauge that is used to measure the thickness of
gaps or the clearance between two parts?
ml xst dk uke D;k gS ftldk mi;ksx nks Hkkxksa ds chp varjky dh
eksVkbZ ;k fudklh dks ekius ds fy, fd;k tkrk gS\

A).     



isap xst+

Pitch gauge
fip xst+

Wire gauge
rkj xst+

Feeler gauge
Qhyj xst+

To measure thread pitch
FkzsM fip dks ekius ds fy,

To measure wire thickness
rkj dh eksVkbZ ekius ds fy,

To check external dimensions
ckgjh vk;keksa dh tk¡p djus ds fy,

To inspect internal dimensions
vkarfjd vk;keksa dk fujh{k.k djus ds fy,

It indicates the maximum allowable deviation
;g vf/kdre Lohdk;Z fopyu dks bafxr djrk gS

It represents the midpoint between high and low limits
;g mPp vkSj fuEu lhekvksa ds chp e/;fcanq dk çfrfuf/kRo djrk gS

It signifies perfect alignment between parts
;g Hkkxksa ds chp iw.kZ lajs[k.k dk çrhd gS

It marks the basic size of a part
;g fdlh Hkkx ds ewy vkdkj dks fpfàr djrk gS

0.1 mm

0.01 mm

1 mm

10 mm

B).     

C).     

D).     [Correct Answer]     

Q.58. In which scenario would you use a wire gauge?
vki fdl ifj–'; esa ok;j xst+ dk mi;ksx djsaxs\

A).     

B).     [Correct Answer]     

C).     

D).     

Q.59. What is the purpose of the zero line in limits and fits?
fyfeV~l vkSj fQV esa 'kwU; js[kk dk mís'; D;k gS\

A).     

B).     

C).     

D).     [Correct Answer]     

Q.60. What is the typical interval (in mm) between adjacent marks on the
Vernier scale of a Vernier height gauge?
ofuZ;j ÅapkbZ xst ds ofuZ;j iSekus ij vklUu fpàksa ds chp fof'k"V
varjky ¼feeh esa½ D;k gS\

A).     

B).     [Correct Answer]     

C).     

D).     



Low melting point
de xyukad

High ductility
mPp yphykiu

Excellent corrosion resistance
mR—"V la{kkj.k çfrjks/k

Lightweight
ykbVosV

White cast iron
lQsn dPpk yksgk

Malleable cast iron
yphyk dPpk yksgk

Ductile cast iron
ueuh; dPpk yksgk

Grey cast iron
xzs dPpk yksgk

To hold workpieces that are too large for a chuck
pd ds fy, cgqr cM+s odZihl dks idM+uk

To hold cutting tools
dkVus ds midj.k j[kus ds fy,

To measure the diameter of workpieces
odZihl ds O;kl dks ekius ds fy,

None of these 
buesa ls dksbZ ugha 

Q.61. Which of the following is a property of cast iron?
fuEufyf[kr esa ls dkSu dPpk yksgk dk xq.k gS\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.62. Which type of cast iron is commonly used for engine blocks and
machinery bases?
fdl çdkj dk dPpk yksgk vkerkSj ij batu Cy‚d vkSj e'khujh csl
ds fy, mi;ksx fd;k tkrk gS\

A).     

B).     

C).     

D).     [Correct Answer]     

Q.63. What is the function of a faceplate on a lathe?
ysFk ij QslIysV dk D;k dk;Z gS\

A).     [Correct Answer]     

B).     

C).     

D).     



Square threads
LDok;j थ्रेड
Buttress threads
cVªsl थ्रेड
Worm threads
o‚eZ थ्रेड
Acme threads
Acme थ्रेड

Chamfering tool
pEQfjax midj.k

Round-nose tool
jkmaM&ukst midj.k

Facing tool
Qsflax midj.k

Parting tool
ikfV±x midj.k

Tool shape
midj.k dk vkdkj

Cutting speed

Q.64. Which type of screw thread is shown in the given image?
uhps nh xbZ Nfo esa fdl çdkj dk isap थ्रेड fn[kk;k x;k gS\

A).     

B).     [Correct Answer]     

C).     

D).     

Q.65. Which type of tool is typically used for grooving during turning
operations?
VfuaZx v‚ijs'ku ds nkSjku xzwfoax ds fy, vkerkSj ij fdl çdkj ds
midj.k dk mi;ksx fd;k tkrk gS\

A).     

B).     

C).     

D).     [Correct Answer]     

Q.66. What is the primary difference between grooving and parting
operations in turning?
VfuaZx esa xzwfoax vkSj ikfVaZx v‚ijs'ku ds chp çkFkfed varj D;k gS\

A).     

B).     



dkVus dh xfr

Depth of cut
dVkSrh dh xgjkbZ

Workpiece material
odZihl lkexzh

Oil
rsy

Air
ok;q

Water
ikuh

Lemon juice
uhacw dk jl

Jarno taper
tuksZ Vsij

ISO taper
vkbZ,lvks Vsij

Brown & Sharpe taper
ब्राउन vkSj 'kkiZ Vsij 

Jacobs taper
tSdCl Vsij

Tap

C).     [Correct Answer]     

D).     

Q.67. Which coolant is commonly used during the knurling process?
ufyaZx çfØ;k ds nkSjku vkerkSj ij fdl 'khryd dk mi;ksx fd;k
tkrk gS\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.68. Which taper is commonly used in drill chucks and machine tool spindles?
dkSu lk Vsij vkerkSj ij fMªy pd vkSj e'khu Vwy fLiaMy esa mi;ksx
fd;k tkrk gS\

A).     

B).     

C).     

D).     [Correct Answer]     

Q.69. Which tool is used for enlarging holes during fitting operations?
fQfVax lapkyu ds nkSjku Nsnksa dks cM+k djus ds fy, fdl midj.k
dk mi;ksx fd;k tkrk gS\

A).     



uy

Reamer
fjej

Hammer
gFkkSM+k

Screwdriver
isapdl

To measure small distances or variations
NksVh nwfj;k¡ ;k fHkUurk,¡ ekius ds fy,

To tighten bolts and nuts
cksYV vkSj uV dlus ds fy,

To cut metal sheets
/kkrq dh pknjsa dkVus ds fy,

None of these
buesa ls dksbZ ugha 

Rivet
dhyd

Weld
osYM

Solder
lksYMj

Screw
isap

B).     [Correct Answer]     

C).     

D).     

Q.70. What is the main purpose of a dial test indicator?
Mk;y VsLV bafMdsVj dk eq[; mís'; D;k gS\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.71. Which of the following mechanical fasteners is designed to be easily
removable and reusable?
fuEufyf[kr esa ls dkSu lk ;kaf=d QkLVuj vklkuh ls gVkus ;ksX;
vkSj iqu% ç;ksT; gksus ds fy, fMtkbu fd;k x;k gS\

A).     

B).     

C).     

D).     [Correct Answer]     

Q.72. What is the primary use of the given tool?
fn, x, Vwy dk çkFkfed mi;ksx D;k gS\



Shaping concave surfaces
vory lrgksa dks vkdkj nsuk

Removing burrs from edges
fdukjksa ls xM+xM+kgV gVkuk

Smoothing flat surfaces
lery lrgksa dks fpduk djuk

None of these
buesa ls dksbZ ugha 

White iron
lQsn yksgk

Ductile iron
ueuh; yksgk

Gray iron
lysVh yksgk

Malleable iron
uje yksgk

Scriber
LØkbcj

Beam
che

Base
vk/kkj

Fine adjustment wheel
फाइन lek;kstu ifg;k
 

A).     

B).     

C).     [Correct Answer]     

D).     

Q.73. Which type of cast iron is known for its high carbon content and
excellent wear resistance?
fdl çdkj dk dPpk yksgk viuh mPp dkcZu lkexzh vkSj mR—"V
iguus ds çfrjks/k ds fy, tkuk tkrk gS\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.74. Which part of the Vernier height gauge is used for making fine
adjustments?
ofuZ;j ÅapkbZ xst ds fdl Hkkx dk mi;ksx ckjhd lek;kstu djus ds
fy, fd;k tkrk gS\

A).     

B).     

C).     

D).     [Correct Answer]     

Q.75. What is the primary function of a running fit?
jfuax fQV dk çkFkfed dk;Z D;k gS\



To allow free movement
eqä vkoktkgh dh vuqefr nsuk

To ensure no movement
;g lqfuf'pr djus ds fy, fd dksbZ gypy u gks

To provide maximum interference
vf/kdre gLr{ksi çnku djuk

To limit dimensional accuracy
vk;keh lVhdrk dks lhfer djus ds fy,

DIN

ISO

BIS

ANSI

Reamer
fjej

Counter bore
dkmaVj cksj

Spot facing
LFky ds lkeus okyk

Counter sink
dkmaVj flad

A).     [Correct Answer]     

B).     

C).     

D).     

Q.76. Which organization is responsible for establishing standards for fits and
limits in India?
Hkkjr esa fQV vkSj लिमिट्स ds fy, ekud LFkkfir djus ds fy, dkSu
lk laxBu ftEesnkj gS\
 

A).     

B).     

C).     [Correct Answer]     

D).     

Q.77. Which tool is used to create a beveled edge at the top of a hole?
Nsn ds 'kh"kZ ij csosYM fdukjk cukus ds fy, fdl midj.k dk
mi;ksx fd;k tkrk gS\

A).     

B).     

C).     

D).     [Correct Answer]     

Q.78. What is the purpose of the given tool (Hand Reamer)?
fn, x, Vwy ¼gSaM jhej½ dk mís'; D;k gS\



To enlarge existing holes manually
ekStwnk fNæksa dks eSU;qvy :i ls cM+k djus ds fy,

To create threaded holes
FkzsMsM Nsn cukus ds fy,

To remove burrs automatically
xM+xM+kgV dks Lopkfyr :i ls gVkus ds fy,

None of these
buesa ls dksbZ ugha 

Tap wrench
VSi fjap 

Spot facing
LFky ds lkeus okyk

Counter bore
dkmaVj cksj

None of these
buesa ls dksbZ ugh

Vise
okbl

Chuck
pd

Clamp
DySai

Screwdriver
isapdl

Straight shank
lh/kk 'kSad

A).     [Correct Answer]     

B).     

C).     

D).     

Q.79. Which tool is used to enlarge an existing hole to a specific depth and
diameter?
fdlh ekStwnk Nsn dks ,d fof'k"V xgjkbZ vkSj O;kl rd cM+k djus ds
fy, fdl midj.k dk mi;ksx fd;k tkrk gS\

A).     

B).     

C).     [Correct Answer]     

D).     

Q.80. Which holding device is commonly used for securing drills in place
during operations?
v‚ijs'ku ds nkSjku fMªy dks lqjf{kr j[kus ds fy, vkerkSj ij fdl
gksfYMax fMokbl dk mi;ksx fd;k tkrk gS\

A).     

B).     [Correct Answer]     

C).     

D).     

Q.81. Which type of shank is commonly used in handheld drills?
gSaMgsYM fMªy esa fdl çdkj dk 'kSad vkerkSj ij mi;ksx fd;k tkrk
gS\

A).     [Correct Answer]     



Square shank
pkSdksj 'kSad

Taper shank
Vsij 'kSad

Hex shank
gsDl 'kSad

Magnetic base
pqacdh; vk/kkj

Vise grip
okbl fxzi

Drill chuck
fMªy pd

Collet chuck
d‚ysV pd

Sanding
lsafMax

Heating
xje djuk

Sawing
dkVuk

Polishing
pedkus

Safety glasses and gloves
lqj{kk p'ek vkSj nLrkus

Sunglasses
/kwi dk p'ek

B).     

C).     

D).     

Q.82. Which drill holding device is commonly used for precision drilling
operations?
lVhd fMªfyax dk;ksaZ ds fy, vkerkSj ij fdl fMªy gksfYMax fMokbl
dk mi;ksx fd;k tkrk gS\

A).     

B).     

C).     

D).     [Correct Answer]     

Q.83. In which process can a cutting torch be used besides cutting and
welding?
dfVax vkSj osfYMax ds vykok dfVax V‚pZ dk mi;ksx fdl çfØ;k esa
fd;k tk ldrk gS\

A).     

B).     [Correct Answer]     

C).     

D).     

Q.84. Which safety equipment is necessary when using an oxygen acetylene
cutting machine?
v‚Dlhtu ,flfVyhu dkVus dh e'khu dk mi;ksx djrs le; dkSu ls
lqj{kk midj.k vko';d gSa\

A).     [Correct Answer]     

B).     



Earplugs
b;jIyx

Steel-toed boots
LVhy ds iats okys twrs

Roll them
mUgsa jksy djsa

Drag them
mUgsa [khapsa

Push them
mUgsa /kdsysa

Lift them
mUgsa mBkvks

Regulator
jsxqysVj

Spark lighter
LikdZ ykbVj

Hose
gkst

Pressure gauge
fuihMeku

TIG welding
TIG osfYMax

MIG welding
MIG osfYMax

Gas welding
xSl osfYMax

C).     

D).     

Q.85. How should one transport oxygen and acetylene cylinders?
fdlh dks v‚Dlhtu vkSj ,flfVyhu flysaMj dk ifjogu dSls djuk
pkfg,\

A).     

B).     

C).     

D).     [Correct Answer]     

Q.86. Which part of the oxygen acetylene cutting machine ignites the gas
mixture?
v‚Dlhtu ,flfVyhu dkVus okyh e'khu dk dkSu lk Hkkx xSl feJ.k
dks çTofyr djrk gS\

A).     

B).     [Correct Answer]     

C).     

D).     

Q.87. In which type of welding is a filler material typically NOT used?
fdl çdkj dh osfYMax esa vkerkSj ij Hkjko lkexzh dk mi;ksx ugha
fd;k tkrk gS\

A).     [Correct Answer]     

B).     

C).     



Submerged arc welding
lcetZ~M vkdZ osfYMax

Wrench
ikuk

File
Q+kby

Wire brush
rkj dk cz'k

Chisel
Nsuh

Smoothing a flat surface
lery lrg dks fpduk djuk

Cleaning a straight groove
lh/kh ukyh dh lQkbZ

Removing material from a corner
,d dksus ls lkexzh gVkuk

Scraping a curved bearing surface
,d ?kqekonkj vlj okyh lrg dks LØSi djuk

Material type and knurling tool grade
lkexzh dk çdkj vkSj नर्लिंग midj.k dk xzsM

Workpiece weight
odZihl dk otu

D).     

Q.88. Name the following welding tool which is used to remove slag from
welds.
osfYMax midj.k ds çdkj dk uke crkb, ftldk mi;ksx osYM ls
LySx gVkus ds fy, fd;k tkrk gSA

A).     

B).     

C).     [Correct Answer]     

D).     

Q.89. In which scenario would a half-round scraper be most useful?
fdl ifj–'; esa vk/kk&xksy [kqjpuh lcls mi;ksxh gksxh\

A).     

B).     

C).     

D).     [Correct Answer]     

Q.90. What factors are considered when calculating knurling speed and feed?
नर्लिंग dh xfr vkSj QhM dh x.kuk djrs le; fdu dkjdksa ij fopkj
fd;k tkrk gS\

A).     [Correct Answer]     

B).     



Knurling tool color
नर्लिंग midj.k dk jax

Room temperature
dejs dk rkieku

Remove chips with bare hands
uaxs gkFkksa ls fpIl fudkyuk

Leave chips on the machine
fpIl dks e'khu ij NksM+ nsuk

Use compressed air to blow chips away
fpIl dks mM+kus ds fy, laihfM+r gok dk mi;ksx djuk

Use a brush or chip hook
cz'k ;k fpi gqd dk ç;ksx djuk

To measure the diameter of cylindrical objects
csyukdkj oLrqvksa dk O;kl ekius ds fy,

To measure the pitch diameter of screw threads
isap थ्रेड ds fip O;kl dks ekius ds fy,

To adjust the zero error
'kwU; =qfV dks lek;ksftr djus ds fy,

To indicate the main scale readings
eq[; iSekus dh jhfMax dks bafxr djus ds fy,

To ensure accuracy in measurements
eki esa lVhdrk lqfuf'pr djus ds fy,

To make them heavier
mUgsa Hkkjh cukus ds fy,

To increase their size
mudk vkdkj c<+kus ds fy,

To increase their speed
mudh xfr c<+kus ds fy,

C).     

D).     

Q.91. How can you prevent accidents while removing chips from the lathe
machine?
ysFk e'khu ls fpIl fudkyrs le; vki nq?kZVukvksa dks dSls jksd ldrs
gSa\

A).     

B).     

C).     

D).     [Correct Answer]     

Q.92. What is the purpose of the anvil in a screw thread micrometer?
LØw FkzsM ekbØksehVj esa fugkbZ dk mís'; D;k gS\

A).     

B).     [Correct Answer]     

C).     

D).     

Q.93. What is the purpose of calibrating measuring instruments?
eki midj.kksa dks va'kkafdr djus dk mís'; D;k gS\

A).     [Correct Answer]     

B).     

C).     

D).     



To provide illumination
jks'kuh çnku djuk

To enhance cooling
BaMd c<+kus ds fy,

To prevent oxidation
v‚Dlhdj.k dks jksdus ds fy,

To increase pressure
ncko c<+kus ds fy,

Arc welding
vkdZ osfYMax

Laser welding
yslj osfYMax

Resistance welding
çfrjks/k osfYMax

Gas welding
xSl osfYMax

By pressing a button on the welding gun
osfYMax xu ij ,d cVu nckdj

By turning a knob on the power source
fctyh lzksr ij ?kqaMh ?kqekdj

By blowing air onto the workpiece
odZihl ij gok Qwaddj

By striking the electrode against the workpiece
odZihl ij bysDVªksM ekjdj

Randomly
csrjrhc

Equally
leku :i ls

Q.94. What is the primary use of shielding gases in welding?
osfYMax esa ifjj{k.k xSlksa dk çkFkfed mi;ksx D;k gS\

A).     

B).     

C).     [Correct Answer]     

D).     

Q.95. Which welding principle involves the use of electricity to generate heat?
fdl osfYMax fl)kar esa xehZ mRiUu djus ds fy, fctyh dk mi;ksx
'kkfey gS\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.96. How is the arc initiated in arc welding?
vkdZ osfYMax esa vkdZ dh 'kq#vkr dSls gksrh gS\

A).     

B).     

C).     

D).     [Correct Answer]     

Q.97. How are rivets spaced in riveting?
fjosfVax esa fjosV~l dh nwjh dSls gksrh gS\

A).     

B).     [Correct Answer]     



According to material thickness
lkexzh dh eksVkbZ ds vuqlkj

None of these
buesa ls dksbZ ugha

Faster process
rst çfØ;k

Lower joint strength
tksM+ksa dh rkdr de gksuk

Requires no heat
xehZ dh vko';drk ugha gS

Less tool wear
de midj.k f?klko

Softening
eqyk;e

Annealing
,uhfyax

Tempering
VsEifjax

Brazing
Vkaduk

Testing metal hardness.
/kkrq dh dBksjrk dk ijh{k.k

Melting metal parts for fusion.
lay;u ds fy, /kkrq ds fgLlksa dks fi?kykuk

Providing various contoured surfaces for shaping metal.
/kkrq dks vkdkj nsus ds fy, fofHkUu leksPp lrgsa çnku djuk

Offering built-in measurement scales.
varfuZfeZr eki iSekuksa dh is'kd'k

C).     

D).     

Q.98. What is a common characteristic of hot riveting compared to cold
riveting?
BaMh fjosfVax dh rqyuk esa g‚V fjosfVax dh lkekU; fo'ks"krk D;k gS\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.99. What is hard soldering also known as?
gkMZ lksYMfjax dks fdl uke ls Hkh tkuk tkrk gS\

A).     

B).     

C).     

D).     [Correct Answer]     

Q.100. What is the primary advantage of using a swage block in
metalworking?
/kkrqdeZ esa Lost Cy‚d dk mi;ksx djus dk çkFkfed ykHk D;k gS\

A).     

B).     

C).     [Correct Answer]     

D).     



Body language

Active listening

Written communication

Verbal communication

Childs

Childrens

Children

Childer

Occassion

Occasion

Ocasioon

Ocassion

visible

translucent

clear

opaque

adapte

adabt

Q.101. Which aspect of communication involves speaking clearly and
effectively?

A).     

B).     

C).     

D).     [Correct Answer]     

Q.102. Plural form of the word "child" is _______.

A).     

B).     

C).     [Correct Answer]     

D).     

Q.103. Identify the correctly spelled word.

A).     

B).     [Correct Answer]     

C).     

D).     

Q.104. The antonym of the word 'transparent' is __________.

A).     

B).     

C).     

D).     [Correct Answer]     

Q.105. Directions: Fill in the blank.

It's important to __________ to new regulations quickly.

A).     

B).     



adatp

adapt

precice

precize

precise

preecize

decelerate

rush

hasten

quicken

lazy

intelligent

confused

dull

Creative Content

Carbon Copy

Correct Context

Complex Code

C).     

D).     [Correct Answer]     

Q.106. Directions: Fill in the blank.

To achieve accuracy, one must be __________.

A).     

B).     

C).     [Correct Answer]     

D).     

Q.107. To 'accelerate' means to speed up. Its antonym is _______.

A).     [Correct Answer]     

B).     

C).     

D).     

Q.108. Directions: Fill in the blank.

He is known for his _______ mind, and always comes up with clever
solutions.

A).     

B).     [Correct Answer]     

C).     

D).     

Q.109. In written communication, what does the term "CC" typically stand for?

A).     

B).     [Correct Answer]     

C).     

D).     



Scratching the head

Rubbing palms together

Clapping hands

Thumbs up

Phone calls

Face-to-face meetings

Emails

Instant messaging

At the beginning

In the middle

At the end

Anywhere in the sentence

Colon (:)

Semicolon (;)

Period (.)

Comma (,)

21 R

Q.110. Which gesture is commonly used to indicate confusion or uncertainty?

A).     [Correct Answer]     

B).     

C).     

D).     

Q.111. Which communication channel is considered the most formal?

A).     

B).     [Correct Answer]     

C).     

D).     

Q.112. Where is the 'wh' word typically placed in a question?

A).     [Correct Answer]     

B).     

C).     

D).     

Q.113. Which punctuation mark is used to separate the introductory phrase
from the main clause of a sentence?

A).     

B).     

C).     

D).     [Correct Answer]     

Q.114. Complete the given series:

nh xbZ J`a[kyk dks iwjk djsa%

3 F, 6 G, 11 I, 18 L, ‘?’

A).     



25 N

27 Q

27 P

5

7

9

13

SBODIJ

SCOEJI

QBPEHK

QCEOIJ

Son
iq=

Brother
HkkbZ

Father
firk

Grandson
iksrk

B).     

C).     

D).     [Correct Answer]     

Q.115. Find the odd one out in the given series:

nh xbZ J`a[kyk esa ls cstksM+ dks <wa<sa%

3, 5, 7, 9, 11, 13

A).     

B).     

C).     [Correct Answer]     

D).     

Q.116. If in a certain code language, KOLKATA is coded as LPMLBUB, how
RANCHI will be coded in that code language?
;fn ,d fuf'pr dksM Hkk"kk esa] KOLKATA dks LPMLBUB ds :i esa
dksfMr fd;k tkrk gS] rks ml dksM Hkk"kk esa RANCHI dks dSls dksM
fd;k tk,xk\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.117. If X is the brother of the son of Y’s son, how is X related to Y?
;fn X, Y ds iq= ds iq= dk HkkbZ gSA X dk Y ls D;k laca/k gS\

A).     

B).     

C).     

D).     [Correct Answer]     



North-east
mÙkj&iwoZ

North-west
mÙkj&if'pe

South-east
nf{k.k&iwoZ

South-west
nf{k.k&if'pe

Nephew
Hkrhtk

Brother
HkkbZ

Cousin
ppsjk HkkbZ

None of these
buesa ls dksbZ ugha

22

20

24

21

Sofa

Q.118. If A is to the south of B, and C is to the east of B, then in which direction
is A with respect to C?
;fn A, B ds nf{k.k esa gS] vkSj C, B ds iwoZ esa gS] rks C ds laca/k esa A
fdl fn'kk esa gS\

A).     

B).     

C).     

D).     [Correct Answer]     

Q.119. Rhea introduces Raman as the son of the brother of her mother. How is
Raman related to Rhea?
fj;k us jeu dk ifjp; viuh eka ds HkkbZ ds csVs ds :i esa djk;kA
jeu dk fj;k ls D;k laca/k gS\

A).     

B).     

C).     [Correct Answer]     

D).     

Q.120. What is the next number in the sequence: 12, 15, 17, 20, ...?
vuqØe esa vxyh la[;k D;k gS% 12] 15] 17] 20] ---\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.121. In the given question, there is a certain relationship among three
options out of the given four options. Find the fourth option which is
not related.
fn, x, ç'u esa fn, x, pkj fodYiksa esa ls rhu fodYiksa ds chp ,d
fuf'pr laca/k gSA pkSFkk fodYi [kkstsa tks lacaf/kr ugha gSA

A).     



lksQk

Stool
LVwy

Lamp
ySEi

Chair
dqlhZ

15

14

12

10

MAHUHAM

AOVZVOA

HITNTIH

VHRTRVH

Reena
jhuk

B).     

C).     [Correct Answer]     

D).     

Q.122. If '+' means ' –', '×' means ‘÷’ '–' means '×' , and '÷' means '+', then

;fn '+' dk vFkZ '–' gS] '×' dk vFkZ '÷' gS '–' dk vFkZ '×' gS] vkSj '÷'
dk vFkZ '+' gS] rks

450 × 15 + 7 – 4 ÷ 15 = '?'

A).     

B).     [Correct Answer]     

C).     

D).     

Q.123. Which of the following group (In Answer Options) of English letters will
look the same in the mirror?
fuEufyf[kr esa ls vaxzsth v{kjksa dk dkSu lk lewg ¼mÙkj fodYi esa½
niZ.k esa ,d tSlk fn[ksxk\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.124. Five girls took part in a race. Reena finished before Mohini but behind
Gauri. Ananya finished before Sanchi but behind Mohini. Who won the
race?
,d nkSM+ esa ik¡p yM+fd;ksa us Hkkx fy;kA jhuk] eksfguh ls igys ysfdu
xkSjh ds ihNs jghA vuU;k] lkaph ls igys ysfdu eksfguh ls ihNs jghA
nkSM+ fdlus thrh\

A).     



Ananya
vuU;k

Mohini
eksfguh

Gauri
xkSjh

T

R

S

Q

Screw
isap

Hammer
gFkkSM+k

Needle
lqbZ

Nail
dhy

4

3

5

6

B).     

C).     

D).     [Correct Answer]     

Q.125. Six ladies P, Q, R, S, T and U are sitting around a round table. Q is
between S and R. P is between T and R. U is to the right of S. Who is
between P and U?

Ng efgyk,¡ P, Q, R, S, T vkSj U ,d xksy est ds pkjksa vksj cSBh gSaA Q, S vkSj R ds chp
gSA P, T vkSj R ds chp gSA U, S ds nkbZa vksj gSA P vkSj U ds chp dkSu gS\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.126. In the given question, there is a certain relationship among three
options out of the given four options. Find the fourth option which is
not related.
fn, x, ç'u esa fn, x, pkj fodYiksa esa ls rhu fodYiksa ds chp ,d
fuf'pr laca/k gSA pkSFkk fodYi [kkstsa tks lacaf/kr ugha gSA

A).     

B).     [Correct Answer]     

C).     

D).     

Q.127. If 3x + 4 = 16, what is the value of x?

;fn 3x + 4 = 16 rks x dk eku D;k gS\

A).     [Correct Answer]     

B).     

C).     

D).     



90 degrees

270 degrees

360 degrees

180 degrees

18

19

20

21

2

4

10

6

16

20

30

24

Q.128. What is the total of the internal angles in a triangle?

,d f=Hkqt esa vkarfjd dks.kksa dk dqy ;ksx fdruk gksrk gS\

A).     

B).     

C).     

D).     [Correct Answer]     

Q.129. What is the next prime number after 17?
17 ds ckn vxyh vHkkT; la[;k dkSu lh gS\

A).     

B).     [Correct Answer]     

C).     

D).     

Q.130. The binary system uses how many digits?
ckbujh flLVe fdrus vadksa dk mi;ksx djrk gS\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.131. What is the LCM of 8 and 12?
8 vkSj 12 dk LCM D;k gS\

A).     

B).     

C).     

D).     [Correct Answer]     

Q.132. If 40% of a number is 20, then 25% of that number is_______.
;fn fdlh la[;k dk 40%] 20 gS] rks ml la[;k dk 25%] &&&&&&&&& gSA



12.5

25

125

80

150 cubic cm
150 ?ku lseh

175 cubic cm
175 ?ku lseh

125 cubic cm
125 ?ku lseh

200 cubic cm
200 ?ku lseh

1450

1276

1170

1336

180

120

150

200

A).     [Correct Answer]     

B).     

C).     

D).     

Q.133. Imagine, you have a cube-shaped box, and each side of this box
measures 5 centimeters. What would be the total amount of space or
volume inside this box?
dYiuk dhft, fd vkids ikl ,d ?ku ds vkdkj dk c‚Dl gS] vkSj
bl c‚Dl dh çR;sd Hkqtk dh eki 5 lsaVhehVj gSA bl c‚Dl ds
vanj dqy txg ;k vk;ru fdruk gksxk\

A).     

B).     

C).     [Correct Answer]     

D).     

Q.134. If a = 19 and b = 33, what is the value of a² + b²?
;fn a = 19 vkSj b = 33 gS] rks a² + b² dk eku D;k gS\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.135. In a survey, 60% of people preferred tea over coffee. If 300 people were
surveyed, how many preferred tea?
,d losZ esa 60% yksxksa us d‚Qh dh txg pk; dks çkFkfedrk nhA ;fn 300 yksxksa dk
losZ{k.k fd;k x;k] rks fdrus yksxksa us pk; ilan dh\

A).     [Correct Answer]     

B).     

C).     

D).     



150

210

220

180

20

5

10

15

Evaporation
ok"ihdj.k

Sublimation
ऊध्र्वपातक

Melting
xyu

Condensation
daMsals'ku

Ohm
vkse

Watt
o‚V

Q.136. If a train travels at a speed of 60 kilometers per hour, how many
kilometers will it travel in 3 hours?
;fn ,d jsyxkM+h 60 fdyksehVj çfr ?kaVs dh xfr ls pyrh gS] rks
og 3 ?kaVs esa fdrus fdyksehVj dh ;k=k djsxh\

A).     

B).     

C).     

D).     [Correct Answer]     

Q.137. You're measuring the perimeter of a square-shaped garden, and you
find it to be 40 meters.
How long would each side of this square garden be (In meters)?
vki ,d pkSdksj vkdkj ds cxhps dh ifjf/k eki jgs gSa] vkSj vkidks ;g 40 ehVj feyrk gSA
bl oxkZdkj m|ku dh çR;sd Hkqtk fdruh yach ¼ehVj esa½ gksxh\

A).     

B).     

C).     [Correct Answer]     

D).     

Q.138. What is the term used to describe the transformation of water into
vapor?
ty ds ok"i esa ifjorZu dk o.kZu djus ds fy, fdl 'kCn dk ç;ksx
fd;k tkrk gS\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.139. What is the standard unit used to measure electric current?
fo|qr /kkjk dks ekius ds fy, ç;qä ekud bdkbZ D;k gS\

A).     

B).     



Volt
oksYV

Ampere
,fEi;j

Solar
lkSj

Coal
dks;yk

Natural Gas
çk—frd xSl

Petroleum
isVªksfy;e

10

7

5

14

Earth
i`Foh

Jupiter
c`gLifr

Venus
'kqØ

Mars
eaxy xzg

C).     

D).     [Correct Answer]     

Q.140. Which of these options represents a sustainable energy source?
buesa ls dkSu lk fodYi ,d LFkk;h ÅtkZ lzksr dk çfrfuf/kRo djrk
gS\

A).     [Correct Answer]     

B).     

C).     

D).     

Q.141. You were testing a solution that is neither acidic nor basic.
What pH value would you expect to find?
vki ,d ,sls lek/kku dk ijh{k.k dj jgs Fks tks u rks vEyh; gS vkSj u gh {kkjh;A
vki fdl ih,p eku dks ikus dh mEehn djsaxs\

A).     

B).     [Correct Answer]     

C).     

D).     

Q.142. Which planet is known as the "Red Planet"?
fdl xzg dks ^yky xzg* ds uke ls tkuk tkrk gS\

A).     

B).     

C).     

D).     [Correct Answer]     

Q.143. What does RAM stand for in computing?
daI;wfVax esa RAM dk D;k vFkZ gS\



Random Access Memory
jSaMe ,Dlsl eseksjh

Read-Only Memory
jhM vksuyh eseksjh

Remote Access Manager
fjeksV ,Dlsl eSustj

Real-time Analysis Module
fj;y Vkbe ,ukfyfll e‚Mîwy

Checking
psfdax

Caution
lko/kkuh

Careful
lrdZ

Customer
xzkgd

Netherlands
uhnjySaM

Spain
Lisu

Portugal
iqrZxky

France
Ýkal

Yamuna
;equk

Godavari
xksnkojh

Kaveri
dkosjh

A).     [Correct Answer]     

B).     

C).     

D).     

Q.144. What does 'C' stand for in the banking/financial term KYC?
cSafdx@foÙkh; VeZ dsokbZlh esa ^lh* dk mís'; D;k gS\

A).     

B).     

C).     

D).     [Correct Answer]     

Q.145. The Indian state of Goa was a former colony of which European
country?
Hkkjrh; jkT; xksok fdl ;wjksih; ns'k dk iwoZ mifuos'k Fkk\

A).     

B).     

C).     [Correct Answer]     

D).     

Q.146. Which river is known as the "Ganga of the South"?
dkSu&lh unh ^nf{k.k dh xaxk* ds uke ls tkuh tkrh gS \

A).     

B).     

C).     [Correct Answer]     



Narmada
ueZnk

1947

1857

1905

1885

C. V. Raman
lh oh jeu

Amartya Sen
veR;Z lsu

Rabindranath Tagore
johUæukFk VSxksj

Mother Teresa
enj Vsjslk

Carbon
dkcZu

Oxygen
v‚Dlhtu

Hydrogen
gkbMªkstu

Silicon
flfyd‚u

Loktak Lake
yksdVd >hy

Sambhar Lake

D).     

Q.147. The Indian National Congress was founded in which year?
Hkkjrh; jk"Vªh; dkaxzsl dh LFkkiuk fdl o"kZ gqbZ Fkh\

A).     

B).     

C).     

D).     [Correct Answer]     

Q.148. Who was the first Indian to win the Nobel Prize?
ukscsy iqjLdkj thrus okys igys Hkkjrh; dkSu Fks\

A).     

B).     

C).     [Correct Answer]     

D).     

Q.149. Which element is the most abundant in the Earth's crust?
i`Foh dh iiM+h esa dkSu lk rRo lcls vf/kd ek=k esa ik;k tkrk gS\

A).     

B).     [Correct Answer]     

C).     

D).     

Q.150. Which lake in India is known for its floating islands?
Hkkjr dh dkSu lh >hy vius ¶yksfVax vkbySaM~l ds fy, tkuh tkrh
gS\

A).     [Correct Answer]     

B).     



lkaHkj >hy

Chilika Lake
fpYdk >hy

Dal Lake
My >hy

C).     

D).     


